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1. Which of the following is true of depreciation accounting? 

a. It is a matter of valuation. 

b. It is part of the matching of revenues and expenses. 

c. It retains funds by reducing income taxes and dividends. 

d. All of these answer choices are correct. 

2. Williamson Corporation purchased a depreciable asset for €300,000 on January 1, 2016. The 

estimated residual value is €30,000, and the estimated useful life is 9 years. The straight-line 

method is used for depreciation. In 2019, Williamson changed its estimates to a total useful life of 5 

years with a salvage value of€50,000. What is 2019 depreciation expense? 

a. €30,000 b. €50,000 c. €80,000 d. €90,000 

3. Thompson Company incurred research and development costs of€100,000 and legal fees of 

€50,000 to acquire a patent. The patent has a legal life of 20 years and a useful life of 10 years. 

What amount should Thompson record as Patent Amortization Expense in the first year? 

a. EO. b. € 5,000. c. € 7,500. d. €15,000. 

4. The journal entries for a bank reconciliation 

a. may include a credit to Accounts Payable for bank error. 

b. may include a debit to Office Expense for bank service charges. 

c. may include a credit to Accounts Receivable for an NSF check. 

d. may include a debit to Accounts Payable for an NSF check. 

5. Vivian, Inc had net sales in 2019 of€700,000. At December 31, 2019, before adjusting entries, 

the balances in selected accounts were: accounts receivable €125,000 debit, and allowance for 

doubtful accounts € 1,200 debit. Vivian estimates that 20/0 of its net accounts receivable will prove to 

be uncollectable. What is the cash realizable value of the receivables reported on the statement of 

financial position at December 31, 2019? 

a. €112,200 b.€109,800 c.€111,000 d.€122,500 

6. On January 1,2018, West Co. exchanged equipment for a £400,000 zero-interest-bearing note 

due on January 1,2021. The prevailing rate of interest for a note of this type at January 1,2018 was 

10%. The present value of$1 at 10% for three periods is 0.75. What amount of interest revenue 

should be included in West's 2019 income statement? 

a. £0 b. £30,000 c.£33,000 d.£40,000 



~~*.108 ••&a~~*.#.~M~.~~. 

*J}IJ : -tlt~*-=-lf~ fI- f:1 : i"1t~(.::.) -3 3 -~ 
~tst e JtJJ : 1 Jj 13 e (£Jtij -) ~ 2 ip 

Use the following infonnation for questions 7 through 9. 


Hudson, Inc. is a calendar-year corporation. Its financial statements for the years 2019 and 2018 


contained errors as follows: 

2019 2018 

Ending inventory €3 ~000 overstated €8,000 overstated 

Depreciation expense €2,000 understated €6,000 overstated 

7. Assume that the proper correcting entries were made at December 31,2018. By how much will 

2019 income before taxes be overstated or understated? 

a. €1,000 understated b. €1,000 overstated 

c. €2,000 overstated d. €5,000 overstated 

8. Assume that no correcting entries were made at December 31, 2018. Ignoring income taxes, by 

how much will retained earnings at December 31, 2019 be overstated or understated? 

a. €1,000 understated b. €5,000 overstated 

c. €5,000 understated d. €9,000 understated 

9. Assume that no correcting entries were made at December 31, 2018, or December 31, 2019 

and that no additional errors occurred in 2020. Ignoring income taxes, by how much will working 

capital at December 31,2020 be overstated or understated? 

a. €O b. €2,000 overstated 

c. €2,000 understated d. €5,000 understated 

10. Turner Corporation acquired two inventory items at a lump-sum cost of €50,000. The 

acquisition included 3,000 units of product LF, and 7,000 units of product lB. LF nonnally sells for 

€15 per unit, and IB for €5 per unit. If Turner sells 1,000 units ofLF, what amount of gross profit 

should it recognize? 

a. €1,875 b. €5,625. c. €10,000. d. €11,875. 

11. On January 2,2017, LexxMark Co. issues 2,000 convertible preference shares that have a par 

value of€20 per share. The shares were issued at a price of€400 per share. On December 31,2019, 
, 

LexxMark Co. repurchases the convertible preference shares for €820,000. On this date, LexxMark 

will record 

a. A loss of €20,000. 

b. A credit to Share Premium-Conversion Equity €40,000. 

c. A debit to Retained Earnings €20,000. 
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d. A credit to Share Capital-Preference €40,000. 

12. Santo Corporation declares and distributes a cash dividend that is a result of current earnings. 

How will the receipt of those dividends affect the investment account of the investor under each of 

the following accounting methods? 

Fair Value Method Equity Method 

a. No Effect Decrease 

b. Increase Decrease 

c. No Effect No Effect 

d. Decrease No Effect 

13. Sycamore, Inc. purchased €100,000 of8 percent bonds ofAlvarado Industries on January 1, 

2019, at a discount, paying €92,278. The bonds mature January 1,2024, and yield 10 percent; 

interest is payable each July 1 and January 1. Sycamore has a business model whose objective is to 

hold assets in order to collect contractual cash flows and the contractual terms of the financial asset 

provides specified dates with regard to cash flows that are solely payments of principal and interest. 

On December 31, 2019, when the market rate of interest is 12%, and the fair value of the bonds is 

€89,934, Sycamore will record interest revenue of 

a. €5,396 b. €4,645 c.€4,497 d.€4,614 

14. Entertainment Tonight, Inc. manufactures and sells stereo systems that include an 

assurance-type warranty for the first 90 days. Entertainment Tonight also offers an optional 

extended coverage plan under which it will repair or replace any defective part for 2 years beyond 

the expiration of the assurance-type warranty. The total transaction price for the sale of the stereo 

system and the extended warranty is €3,000. The standalone price of each is €2,300 and €900, 

respectively. The estimated cost of the assurance-warranty is €350. The accounting for warranty 

will include a 

a. debit to Warranty Expense, €900. 

b. debit to Warranty Liability, €350 

c. credit to Warranty Liability, €900 

d. credit to Unearned Warranty Revenue, €900 

15. Cooper Construction Company had a contract starting April 2018, to construct a €24,000,000 

building that is expected to be completed in September 2020, at an estimated cost of€22,000,000. 

At the end of2018, the costs to date were €10,120,000 and the estimated total costs to complete had 

not changed. The progress billings during 2018 were €4,800,000 and the cash collected during 2018 
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was €3,200,000. Cooper uses the percentage·of-completion method. 


At December 31,2018 Cooper would report Construction in Process in the amount of: 


a. € 920,000 b. €10,120,000 c. €11,040,000 d. € 9,440,000 
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